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Find the Square Root of the Following.
Q.1 16x%+ 24+ 97
Sol: =160 + 12xy + 12xy + 92

= (1657 + 1290) + (12xy + 9)

= 4x(d4x + 3y) + Iy(dx + 3y)

= (4x + 3y)N4x + 3y)

= (4x + 3p)?

V'rl 6x + 24y +9y° = J(4x +3y)
= #(4x + 3y)

Q.2 (x?=Tx+12)(x? - 9x + 20)(x? - 8x + 15)

Sol: = [x*=3x-4x+12][x?-4x-5x+20][x?-3x-5x+15)
= Nx?=3x)=(4x -12)][(P=4x)«(5x-20))[ (2= 3x)- (5x-15))
= [x(x = 3)=d(x = 3)][x(x = 4)-5(x - 4)][x(x = 3)-5(x - 5)]
=(x=3)(x-4)x-4)x=5)x-3)x~-5)
= (x-3)(x - 4)}(x - 5)?

Now we will take square root.
= J(x=3)'(x=4) (x-5)

+(x = 3)Nx=-4)x~5)

Q3 (P H+8x+ M -x-3) 2+ 11x - 21)

Sol: = (2 x +7x + T)(2x?- 3x+ 20 = 3)(2e2+14x - 3x - 21)
= [(+x)+(Te+ T) (27 3x) (20 3) ][22+ 1 4x)~ (3x+21))
= [x(x+ 1) +7 (1)) 3)+ 12 3)) [ 2x(x +7)-3(x47)]
= [(x + D(x + 7)][(2x = INx+ D][(x + T} 2x - 3))
= (x + 1) (x + 1)) (2x - 3)?
= \.'/(-r +1)*(x+7)*(2x-3)’ (Taking square root)

I

= +(x+ 1)(x + 7)(2c - 3)
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Q4 x(x+2Ux+4d)(x+6)+16

Sol: =xx+6)x+2)x+4)+16 (Rcarmngir;g)
=[x(x+6)][(x+2)x+4)]+16
(24 6x) (P +6x=8)+ 16, (1)
Let X2 +6x=y
=)+ 8)+ 16 from (1)
=v?+8y+16

=124y + 4y + 16

= (v +4y)+ (4y + 16)
=Wy +4)+4(y+4)
=(v+4)y+4)

=(v+ 4)2

Putting values of y in x> + 6x

= (x* + 6x+ 4)?

= J{x" +6x+4) (Taking square root)
= (x4 6y + 4)

Q.5 (x+IN2x+3)(2x+ 52x+7)+ 16
Sol: (Rcarranging}

=(2v+ I 2x+ 7Y 2x +3)2x +5) + 16

= [(2x+ IH2x + 7)J[(2x + 3)(2x + 5)] + 16

= [4x2 + 16x+ 7)[(4x7 + 16x + 15] + 16
Let 4+ léx=y

=(y+THv+15)+16

=32+ 22y + 105 + 16

=12+ 22p+ 121

=2+ 1ly+11p+121

=+ 1y)+(11y+121)
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Sy I+ 1+ D)

=+ 1y +11)

=(v+11)

Putting value of y

= (4% + 16x + 11)?

B \/(4~‘rz +16x+11)° (Taking square root)
= +(47 + 16x + 11)

(1Y )
| x) .TJ

( ) \
Sol: 12+i, -10[1+l +27 )
X)

LC[ X+ — E-y
X

| : g
¥+ - +2 =) (Squaning both sides.)

Putting values X +x—=}’ and x ' +x—;=)’2 =2 in (i).

=) -2~ 10y +27
=)2 - 10y +25
=y - Sy -5y +25
=ny-5)-50-9)
=(y-S)Ny-5)
=(y-5)

2
=[x+l—5]
X

2
= \/(I + L 5] (Taking square root)

X

——/——


Rectangle


110

= 1 .1‘+l-5
x | i

Q.7 [f‘-l—]: —4[f+1]+8 J(t#0)

[ !

]
Sol: Letf+-=y
e

We know that
2

[f-l] :[Hl] _ax)
] ' [
:}.2_4
2

I 2 et
=y " =4 putting in given values

Now / "';l‘z}’ and [f*‘!—
=)2-4-4y+8

=y -dy+4

=y =2y-2y+4 ¢
=wv-2)-2(v-2)

= (- 20~ 2)

= (y - 2)?

Putting value of y.

1 2
=|t1+--2
!

/ ] AN
= J [+-=2) (Taking square root)

r)
i I 3
= +|r+--2
L)
1Y 1Y
Qs [1‘2+—2] —4[x+—] +12 :x20
X X

Sol: Let Xx+—=y
X

L
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1

X +—
X
Squaring both sides

2'}'

b

I‘
X+ - =)
X
|
X e—=+2=p e, (1)
X
; 1
X +— “‘}'2‘2
2

_ 1
Putting X +';;}’ and xz+_2=yz_2

. in the given

stalement.

=(7-27-47+12
=y'-42+4-472+12

= -872+16

=y -42-42+16

=y (2 - 4)- 407 - 4)

=07 -4)p7-4)

= ()’2 - 4)2 .

From (i), putting values »* = x + “+2.
2

( I
x2+—‘+2-4
‘r‘

[

{ . ] \2
Jx’ 4 e ) (Taking square root)

4
-
+

|
|
2

2 L
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QY9 A+ 127 +25:3 4 240 + 16

Sol: 2¢¢ + 3x + 4
2x° 0+ 1250 + 252 + 24x + 16
+ 4t
42 + Ix 125 + 252 424x + 16
+ 12 + 942

42+ 6x+4 | + 1602 + 24x + 16
+ 162 +24x+ 16

- -

Square root = +(2x2 + 3x + 4)

9% 3x 7 h} 4y
— - x20,y=0)
Q.19 4y° 2_}’ 4 3.r 9x* 7 g
Sol:
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3x 1

2y
Square mut=i['h“ - .Tr']

- 4 1
Q.11. For what value of x, x' +4¢" 4 ¢+ — 4

2y 2
8

_

o is a complete

square, where x = ()

Sol:
X
2x +2
" .
2.1* +4+ —
-

First we will find »quare root

: 2
I‘+2+—,'
-
T , _ .
‘ x4+4r2+.r+—8-;+i
x° x
+ x*
412+.x+_82_*+.i‘
+4x2+4 * X
8 4
xT x
8 4
t4 I3
X x
*54x

For completing square remainder must be zero.

Therefore =8+ x =0

= x =8

Q.12. If x* + I + mx? + 12x + 9 is a complete square then

find the values pf / and m.
Sol: x+2x+3
X2 X+ 03+ + 12x+ 9
+
22 + 2x P +mal 4126+ 9

+ 4 + 4x°

2 +4x+3

(1-4)13+mr2-4x2+ 12x +9
+6x2+12x+ 9

(I-4)3 + mi? = 102
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For completing square remainder must be zero
(/=4 + (m=10)x2 =0
Therefore, [-4=0andm-10=0
[=4m=10
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